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Chapter 2

Quiz 2.5-2.7

1. Each figure is a rectangle. So, corresponding angles have
the same measure.
4

Ratio of corresponding widths: i

S W

Ratio of corresponding lengths: zi =

The ratios are equivalent, so the side lengths are
proportional. The rectangles are similar.
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Perimeter of red figure 12
" Perimeter of blue figure 8

Area of red figure (12)2 1 (_3_)2 0

Area of blue figure % 2

The ratio of the perimeters is %and the ratio of the areas
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Perimeter of red figure _ 4

" Perimeter of blue figure 15

Area of red figure _ (4)2 L6

Area of blue figure 15540208

The ratio of the perimeters is %and the ratio of the areas
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6. yes;

Lines connecting corresponding vertices meet at a point.
So, the blue figure is a dilation of the red figure.

7. no; The figures have the same size and shape. The red
figure slides to form the blue figure. So, the blue figure is
not a dilation of the red figure. It is a translation.
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The coordinates of the image are A47(-3, —1),

—ll, S -1-1-, ——3—1—), and D"| -3, -—3—1— :
2 2 ) 2

10 Width of singles court 27 _

Width of doubles court 36
Length of singles court 78

& w

Lenght of doubles court T8

The ratios are not equivalent, so the side lengths are not
proportional. The courts are not similar.
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